| 2FfS5FEE FREHICLIZHEHMET V7 — b (RHHER)

<HK:tHE> <EEH> SREEE 1422
[ [ (4 =
A< HTIRES ~45 B:®®HTIRES ~34 | 2% | 2%% | 3%F s
C:HFYHTIEORY ~245 D:HTREFSHY ~ 1 A 46 41 30 6
: (W AR ~ & >
[ REE L q8% 8% 83% 60%
2K
123
87%
No. ¥ @ A B ¥E A | B|]C| D] 27 [F8=
1 =% | 37 | 1 [ 0 ] 3.80
2FF 21| 10| 2 | 0 | 2 3.64
R ; . 3FE [ 23] 4 | 0 [ 2 3.75
pi- 4 4 -
I ‘?'Z %‘i\ %L(%&t-ﬂ')—(\l\éo fiﬁ?‘i’ 87 2| 3 I 5 3.73
3hF 5 I 0] 010 3.83
2% | 92| 22| 3 [ 5 3.74
T5%& | 32| 10] 3] 0] 1 3. 64
2FFE [ 26 | 13 | | 0 I 3.63
R R . 3FE [ 20 | 8 [ [ 0 3.57
oAk AS %
2 ‘?'Z#)li\ ﬁ&TI*#Wﬂ ﬁﬂ—(;—(\l\éo éw 78 3| 5 I 2 3.62
=% | 22 19] 5] 0] 0 3.37
2F%&E (17| 18] 3] 0| 3 3.37
3 | FroR EROEFVRECFDVESFIOVTETY 3FE [ 12| 13] 3] 0| 2 3.32
3, 2f |51 |5 11| 0] 5 3.36
T=F | 1G] 20] 6 0 ] 3.29
2FE [ 16 | 20 | & [ 0 3.24
R . 3FEE [ 11 | 12] 6] 0 I 3.17
S —=2 S N z x -
4 FrioliE, A3a=Hr—va hHREIIOWTETWS, ERer [ 46 [ 52 [ 16 I 5 328
3R [ 4 | 0] 0 I 3.20
2 | 4756 | 16| 1 3 3.24
=% | 21 | 19] 5| 0 T 3. 36
2FE [ 22 [ 15] 3] 0 I 3.48
R . 3FE [ 14| 11| 2 [ 2 3.36
SEiz % -
5 Friulx, FET3 (@) APFITOVWTETWS, &Re (57 [ a5 [ 10 | i 340
3RS [ 2 | 2] 0 I 2.80
2 | 58| 47| 12| 1 5 3.37
1>%& | 39| 5] 0] 0| 2 3.89
2%%E 32| 6 | 0] 0| 3 3.84
o | FREVCCOPRANRL, Fro@@sL BTy [ 3FFE [ 2[5 [0[ 03 3.8l
TETW3, 2% |93 16| 0| 0| 8 3.85
12 | 32 ] 12 ] | 0 ] 3.69
2FE |29 9| 2] 0 I 3.68
g | FHE FLLOBKVREAEHEALBECEEOIX [ SFE (21 ] 6 [ 0 | 2 3.71
%iT->TWV 3, GERRet | 82 | 27| & | 0 | & 3.69
BAG] 5 I 0] 0] 0 3.83
2 | 87| 28| &4 | 0 | & 3.70
1>% | 6| 8] 0] 0 2 3.82
2F&E [ 19 13] 0] 0 9 3.59
g | FH IVE2—9RITLy MERRrOEEMBEE [ SFE [ 2] 6 [ 0 [ 0] 2 3.79
ERALASBEENEERH-> TV 3, Rt | 7T | 21| 0 | 0 | 13 3.74
BALG] 4 | 0] 0] 0] 2 4.00
2% |8l |27 0] 015 3.75




1% | 41 | 5] 0] 0] 0 3.89

2%&E (3| 7] 0] 0] 0 3.83

q BRI DIEEHE X, FrHLNRERRBEHIA, 2VOR | 3FF [ 22| 6 0 0 2 3.79

BEOEROEFHFINYRTLENIMTWS, =3 [ 97 ] 18] 0 0 2 3. 84

] 5 I 0] 0] 0 3.83

2 10219 0] 0| 2 3.84

1 FE | 9| 1| & 0| 2 3.57

2F%&E [ 28| 12 | 1| 0] 0 3.66

10 2RI, REEHIPRBLEL > TERBIRNTES LS, + 3FE [ 19 q I 0 | 3.62

SRERERBHELLCISHERIEREET->TWS, st [ 76 | 32 [ 6 0 3 3.6l

] [ 2] 0] 0] 3 3.33

2% [ 17 [3| 6| 0| 6 3.6l

1% | 10| 16| 16 | 3 T 2.13

2FE | 7 | 23| 6 | 3 | 2 2.87

T HEXPHNHZE 0L, +9HRIN, BHEDLEIIIENT | 3FF [ 7 13 ] 5 3 2 2.86

H3, e | 28 [ 52| 27| 9 | 5 2.8l

BAG] 5 I 0] 0] 0 3.83

2 [ 2953|271 9 | 5 2.86

1% | 33| 13| 0] 0] 0 3.72

2%& [ 25| 12| & | 0] 0 3.51

12 ZRIE. ERE—LR-IPERELY ., Z2EREHETERE | 3FF | 22| 6 I 0 | 3.72

DRFOEROBEEFHELIYRTEATVS, fEfat | 80 | 31 | 5 | O I 3.65

ZhR 3| 2] 0] 0 I 3.60

2% [ 8 |33 5| 0 [ 2 3.64

T%%& | 38| 8 ] 0] 0] 0 3. 83

2%&E |29 9| 2] 0 I 3.68

i3 | FRE BAMEA LY BEILY, BEEFSSM [ 3FFE [ 23] 6 [ 0] 0 3.73

RETITIRYE., ¥BopRAICEITTRYMBATVS, =%t | 90| 23| 3 0 ] 3.75

ZhR 2 I 0] 0] 3 3.67

2% |2 2| 30 & 3.75

T%%& | 39| 7 ] 0] 0] 0 3. 85

2%F | 32 | 8 [ 0] 0 3.76

" mm N 3FE [ 22| 8| 0] 0] 0 3.73

14 | 2RI, RECITEE LSBT IMEERITTVWS, RS [ B [ 3 | 0 0 399

ZhR 5 I 0] 0] 0 3.83

2% |98 | 24 | 1 0] 0 3.79

125 | 41 | & [ 0] 0 3.81

2FFE | 29| 9 [ 0 | 2 3.72

5 | FRE FLLORBCEGLOMBESRILBERY. R [ 3FF[25] 4 [ 0[]0 I 3.86

EHICNBLEREER{EA. EELTHRLTWVWS, st [ 95 | 17| 2 0 3 3.82

ZhR 3 I 0] 0 2 3.75

2% (98| 18| 2| 0 [ 5 3.8l

1% | 22 | 10] 0 | 0 | I4 3.69

2%& [ 26| 7| 0] 0| 8 3.79

16 | PTAZEBE, REELHMASBALTEBrTLAT [ 3FETIT] 5 [0 [0 8 3.77

3, ZEREr | 65 | 22| 0 | 0 | 30 3.75

ZhR 0 I 0] 0] 5 3.00

2% [ 65| 23| 0| 0 | 35 3.74

1% | 32| 8 | 5 | 0 3.504

XEEANDTUr— b TT HREOTRETE, KEZn | 2ZF [ 31| 5] 2| 2 I 3.63

17 [ TERATRRAAIC L - B8 IS, BRISRBERCHIE, 3FF [ 21| 5 [ [ 2 3.64

H—ERBEEE WHSTES (LTL6i13) BresERT [ &Kk [ [ 18] 8] 4 3 3.60
ETVWETH., HRTETIVWES>SA~HEFRTETVWREW-SD

1% | 28] 9] 0] 0] 9 3.76

2F& [ 25 | 11| 1 0 | & 3.65

= sx s S AT T (e 3ZE [ 6] 10| 0] 0| & 3.62

18 | EHMWEI. EHFHEIOHALHAKICH IS TVWS, ZRe [ 69 [ 30 | 0 7 368

BAL] 4 I 0] 0 I 3.80

2% | 13| 31 | 1 0 | I8 3.69




